~ 1 501%H~

BERECCEH

rm

sBEER] HSBUEARGSEUR

[PrfEt] S _=22)IIR4TBE381S & 0r2—687—7237

[(REDIEL - BIF]

[ENSEV] ZPVELUT. AEEZEXDKISKESZTDINESICTHIT TN ZHDRE

I. —A—AZARDICTBDCET, BRAEEIDCE. AEBIDITENTEDIFEEICARUVTCNKZOHDRE

I. R3-95- -#Nd- B - KOD. ARZREIRE

II. FEEFRDHBRNEZUDNEINDRE

V. BRNZBETD « BRDIENREECD « RN U Z2BCHRE

V. B - B% - BBV ERNSFERZBLTC. FEB—A—ADKRIRIDINZEDRE

VI. tEDFEENSEATT. HE5WDIUREIZTREF OROINLCRE

(hEs% « 3=2fi]

L ORERECCER
[T

FOENCH | EVENGH [BEDKR] [0 65 48 18]
HBE= ('é(bh.l‘a"ﬁ&%)i W5C - 18R MIEEBNST
3 ® BE 1A BIEE 1A
: B T MU ISHIRELA 28 FEHIREWR 28

2
BERBYH 38 REHG 358
HEMBS - REMWE © 38
EE 1A

CAT

6¢H (0

(FETXER)

— < HHH
BEH | = |02 54w | (B AR

PBES : SABEREL - REXTS 122D

B T
REZEE
al=| [Ei=(ag)
Omx'R
B |—RREs R 2 & 1510
;ﬁ; ] )T
= 2m%\3
mm____ B T 3mie | BA 9332
I‘
= I 4158 5N 94.64
ep<0TPSU~| | 5<LIPSU= [0EpN TIPS 5@ | OA 10037
(3-4-5&R (3.4 581 .4 - 6
(3“4 58R)| | N a7 77
BT G 5976
3~5HEERBEdZNZN
®BE | gn=o-wzae

XREM6FEIRA1HRRDERTY . FLLABTHELEER - BXF TRV EbEEEN,



E=2 N

REEG B[] 8 B30 ~ T 1 8 30 &
PHRE B HO A~& (7:00~8:30)
BHDIRE A~% 1:00~5:00 ERIRE 5:00~6:00
R¥EH B - 1. aissa - B8H7/21~8/31. K81 2/25~1/8. BH3/23~4/9
BR BE#HE/E50
BEAE BARD
MR FEE - FE CRIESESOEMRAN]

—HEDRE. BAVERRE, NFEEFFSOAN. EERE. BOEERK. HEiRE

[(—BOEE CEE8s8C L) ]

X Al Ti&
& 730 800 900 1000 1100 1200 100 200 300 400 500 600 700
; 5 = B~ = i 22 BEF &
4 BE W Al W 22 BR> 828 @xa B8 @
5 BR & &5 B rke BLE  pS mBEE R
= B U [0 g 6] Al BBV B
=) = =S
Ju ﬁgﬁ
[(F3F@ETTE]
A (e =UNES A (e =UES A TEAB
ARER(ECFTDDR) Bhisc=H. PR, HER RESaRO. DURVRA. €5
4 |BOBRE G 8 12 | D=
ED - REEaRE - BAT KERSEROIE, OEE (SRR = G55
5 e Ar o |F. BoBRE GE Bllse | = (R
NHLEY ER ABIRBS » ARRAR
AR EESES (Om'R) g?f@?@}\gﬁé)gml *“EX”‘O\&E(% RED
ST A= HUT) BN (BB & ) & AL
6 %’iﬁ 58) (58 - EBEMF 10 B s oo R Az o |RRINER (5%
S5E5E350 BERE GBR OB oD, PANE - NTEH
- mrEs GmR) - tH» 11 g5 XA 3 Bl [RIZIBDE
HRIRE (BE. KRERHIIRE) ]
BRIRBDAS ESiidy o XIRITE RRIRBEREBINDBEE
EHZV OFmBE 1 [@Os34+s5 %R AR08 (724~810 H/8B)
BEEE OgmBE 1 [@Os345 FK] AARBSOE ( 471 MR/ 8)
== OB 0B AE B 5 mR AARBsO®E ( 230 A/ 8)
RA=VD mESO0OE 1 @ 5 {8 38 AmBEOHE ( 500 MR/ 8)
HROYFHETED O8 08 A%E gs4+s5 %L AAmRsOE ( 1,351 MR/ 8)




